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QUESTION 1

After saving content to the Content library, you check the Content library Tree and find that the new content is missing.
What would be your immediate action? 

A. Close, refresh dynamic sources, and re-open the Dynamic Data window. 

B. Close and re-open the Content Library Tree. 

C. Deploy Commerce. 

D. Deploy Config and Commerce. 

Correct Answer: B 

 

QUESTION 2

A customer has BOM Mapping configured on their site using a simple Table-Based BOM Mapping rule. 

However, they want to modify their BOM Mapping to also map an additional Configuration attribute to a 

Transaction Line level attribute. 

Which two methods can the customer use to achieve this? (Choose two.) 

A. Add a new entry in the BOM Attribute Mapping table for the BOM item. 

B. Add a new entry in the BOM Item Mapping Definition table for the BOM item. 

C. Add a new entry in the BOM Attribute Definition table for the BOM item. 

D. Define an Advanced BML-Based BOM Mapping rule that populates the "attributes" node of the BOM item. 

E. Define an Advanced BML-Based BOM Mapping rule that populates the "definition" node of the BOM item. 

F. Define an Advanced BML-Based BOM Mapping rule that populates the "fields" node of the BOM item. 

Correct Answer: AD 

 

QUESTION 3

The Related Parts data table exists in the QA environment and in the production environment. The table has 3,000
records in the QA environment and 4,000 records in the production environment. How many records will be present in
the data table in the production environment if this table is migrated from the QA environment? 

A. 7,000 

B. 3,000 

C. 4,000 
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D. 1,000 

Correct Answer: C 

 

QUESTION 4

Identify three types of activities that are captured in Administration logs. (Choose three.) 

A. migrations with the site as target 

B. deployment of configuration product families 

C. creation of data tables 

D. modification of Commerce process objects 

E. creation of configuration objects 

F. uploading of files in File Manager 

Correct Answer: ABD 

 

QUESTION 5

When creating a connection for a CPQ SOAP Endpoint in ICS, which format is expected? 

A. Error! Hyperlink reference not valid. 

B. Error! Hyperlink reference not valid. 

C. Error! Hyperlink reference not valid. 

D. Error! Hyperlink reference not valid. 

Correct Answer: A 
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